
162. Fantasia Fabrizio Dentice?
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PL-Kj:Uniwersytet Jagiellonski mus.ms 40032:Barbarino Lute MS (c.1600), p.238. Encoded and edited by Sarge Gerbode.

5) 1st note c; 2nd note f in orig.
4) Rhythm flag missing in orig.
3) Note one course lower in orig.
2) 2 notes i in orig.
1) c in orig. Also double value rhythm flag ignored, here.
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2) Note one course higher in orig.
1) b in orig.
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3) f in orig.
2) Rhythm flag missing in orig.
1) Note one course higher in orig.
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







 













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3)










 















 




 

  













 




















 






 




 









 



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




 












 





 
 








 
  

  



 
  

 

4)








































 
  











 

  









130






 


 

  






























 
 








 














  
 

  















  

135


 















5)

































 













































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5) Note one course higher in orig.
4) Rhythm flag missing in orig. Same with first rhythm flag at beginning of next bar.
3) d in orig.
2) Rhythm flag missing in orig.
1) g in orig.


